Dedicated Freight Corridor Corporation of India Ltd.

(A Government of India Enterprises)

5" Floor, Pragati Maidan, Metro Station Building Complex, New Delhj- 110001
SRS e FrteR Corporate Identity Number U60232DL2006GO] 155068 Web:
www.dfccil.gov.in

No. 2()19/HQ/Admin/RTI~315 New Delhi: 20.05.2019

Sh. Santosh Kumar Padhy
Karnataka

Act.2005,
Reference: Your RTI Application dated 21.04.19 received through DOPT.
Information i. r, o, your above RTI application as received is attached.
Appellate Authority’s name and address are as under;

Shri Satish Kothari, GGM /Administration DR CCIL,
Sth Floor, Pragati Maidan Metro Station Building, New Delhi-1 10001.

S.K.PANDA)
Dy. G.M/Admn.(PIO)

E-mail: skpanda@dfee.co.in

9717636811
DA: 25 sheets.



Sub: Application of Shri Santosh Kumar Padhy,

Note

No. 2019/HQ/HR-1/(ii)/RTI/Pt.(201900084)

Dated: 20.05.2019

R/o Karnataka, under RTI Act-2005.

Reply to RTI No. 315

Information Sought For:

_ 0 000000 ]
| was appeared written exam Advt. No. 11/2018 for the post of Junior Executive/S&T (post code-430.
Date 13.11.2018. Roll no. 15008080027, cat
Details of information required.

1.

egory Ex-serviceman.

Proposed Reply/Remarks

As per answer key released by DFCCIL above
mentioned exam marks obtained by me is 63 marks
out of 120 after deducted the negative marking.

But in score card given to me by DFCCIL (HR) is only
59.75 and rank in combined merit list is 30 number.
For this further clarify | have attached the response
answer key which was given to me after completion
of exam. Please intimate me after review my answer
sheet so that | will get my actual obtained marks.

The final response sheet is attached.

As per score card rank given to me overall is 30
number and number of vacancy category as per cut
off marks displayed above my marks obtained is more
than 30 numbers candidates, so it is further indicating
that my marks is little higher to get the 30 number
rank in overall, please give clarify after review answer
sheet and merit list,

Provide list the names, ex-serviceman category and
marks short listed.

Result has been prepared keeping in view
the vacancy position, merit position of the
candidates and category wise reservation
points.

Information sought does not cover section
8(j) of RTI Act 2005.

Provide information regarding all 06 vacancy reserved
for ex-serviceman above post 43 are given to Ex-
serviceman candidates only with name and marks. To
the best of my belief the details sought fall within
your authority.

Please provide me this information sought does not
fall with in restriction contained in section 8 and 9 of
RTI Act.

Information sought is not clear.
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[Participant ID [15008080657—

Participant )
Name SANTOSH KUMAR PADHY .
Nzﬁgenler ON Dlgltal Zone iDZ Thlga!arapalya Mazn Road

est Date 13/11/2018
est Time 12:30 PM - 2:30 PM

Subject NUNIOR EXECUTIVE (GRADE ) SIGNAL &
ELECOMMUNICATIO

Sontion - General Knowledge

x4 Baiﬂerofﬁaldighah

Question ID : 1860452347
Status : Answered
Chosen Option : 3

o Wmmmmwcmmmmf
Ans x 1, Gﬂd&YM .. '-

X2 Ram Niwas M:;dha

X 3. Shyamial Yaday

Vi Violet Alva

a MVK&MMM

Question ID : 1 860452351
Status : Not Answered
Chosen Option : «

93 Who is the only female to. haVe n)]gd the Delhi Sulfanates
Ans X 1. Quiub Begum

v 2. Razia Sultapa

X 3. Jahanara Begum

X 4 Mehrunisa |

Question ID : 1860452346
Status : Answered
Chosen Option : 2

Q4 Which of the- following leaders woun the Presidential Election of Maldives in 2017
Ans X 1. Mohammed ‘Waheed Hassan

& 2 Abdulla Yameen

¥'5. Tbrahim Mohamed Solih.

X4 Mohamed Nasheed

Question ID : 1860452354

Status : Answered
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L _ Chosen Option ¢ 3 ]

Question ID : 1860452348

Chosen Option 1

Stalus : Answered

{ native fo Assans

Question ID : 1860452349

Chosen Option : 4

Status : Answered

-

Question 1D : 1860452355

Chosen Option : 3

Status : Answered

Q-8 The arteries.divide ioto smaller vesssls, O rench

X 4. Artericle

ng the fissus, they divide fuithec into-extreinely this tubes calted:

Question ID : 1860452357

Chosen Option : 1

Status : Answered

By Khasx is the official language of whick of the followin states‘?'

s X 1. The Chief Justice: of India; Alticle 93

X2 ‘I'hePresxdent Article 52
v 3. The President; Article 72

ADs S Mampur

X 2 Nagaland

X 3. Mizoram

¥ 4. Meghalaya

. Question ID : 1860452350
Status : Answered
. Chosen Option : 2

i »hls:thepw-‘tomtpwdﬁsunder —____ofthe Const!tuﬁon of India,

htlps_:llcdn4.digialm.oomlllperfgﬁ1lpubl 1 258}touchstone!AssessmenlQPHTMLMode1.'! 125801842811 258018428511D936/1 5446867491253564/150
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" Question ID ; 1860452352

Status : Answered

Chosen Option : 3

Q1 'm@wwrmammwmmﬁwwwmmm@mwm

—W

Question ID : 1860452356

Status : Answered

Chosen Option : 4

q 1 -Wihichiof the fliowiig: Acticles of the: ‘Constitution oﬁnd.iq daumamnqmmmrmdmmm«n

Question ID : 1860452353

- Slatus : Answered

. Chosen Option ; 3

Setion | Arithmetic

Q1 amnmmmrmm' o ‘aad it to ihe starkibe poini i 9 mmmﬂmx
mcﬁu hwmr#wmm» Mil»sb&hl::?mq Moﬁ?ﬁ m@wl%

Ans v1 4‘5 )
K355
X a8

Question ID : 1860452368

Status : Not Answered.

Chosen Option ; =

Q.2 Acertain sum is legi mt l&-ph.cmxpnumnnw mhucmapmumquumi}wwh«wmbem etfective rate of
intecest pwmm:m{comen 0 1wo decimal placesy? -

* o1 16.99%
X2 16.72%
X 3 16.56%
X 4. 16.520%.

Question ID : 1860452363

Status : Not Answered

Chosen Option : -

Q.3 Awlnwnsmlbulmmefaﬁrchm?dhumél vin. From thils wire, ancranglamhuwdwiumthchnghmﬁmdm
-are in the ratio of 7 ; 3, wwwbomemumm’-)dt'mmugte (take 7 = 22 )

Ans of 1. 2268
X2 2240
X3 2187
< 4 1988

Question ID : 1860452366

Status : Not Answered

Chosen Option ; -

ps:a'lcdn4.digialm.coml!lper!go1 Ipub/1 258/touchstonelAssassmen!QPHTMLMode1i/ 1258018428/12580184285 1 1D936/15446867491253564/150. .
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. Question ID : 1860452369
Status : Not Answered
. Chasen Option : -

Question ID : 1860452359
Stalus : Not Answered
Chosen Option : =

Q.6 The price of awarticieis first creaseiss 255 ) thew agiiincreased by 5%, The temilin price Is o decreisey
By 30%. Whavis thi et ohange in the prica ?_aﬁem‘ e R Ry

Question ID ; 1860452360
Status : Not Answered
Chosen Option : =

Q.7 This compoiind futerest an 2.5Um of T1§,000 at lxw_léﬂif'ifrﬂi’.mmwmfbmi:eng@psﬁq@_i;'&s',?ad_-v}m will the

‘simple interest on the sanse suin.af the same rate for double the period?
e X 8,500
X 2.%6,800
v'3.%7,200
X 4. 7,000

Question ID : 1860452362
Status : Not Answered
(}hosen Option : =«

Q.8 surbhisold her bag at &doss of 6%, Had she sold it for €42 nuore, slie would have ninde & profit'of §%4. Haid sho'soldd it
farT325; the profis would have been: ' ) : T

Ans

v 1.'-8-:—.-%'
X2 6%%
X 829

X4.529%

Question ID : 1860452361
Status : Not Answered
Chasen Option : -

Q.8 A can complete s piece of work in 48 days, B in 20 days aud C in 30 days. B aud € fogethir started the work but bad to
leave:thie work alier 3 days. The muniber of days in Which A ¢aut complete the remaining work fs:

Ans X116

tps:llcdn4.digialm.com/llper/go1Ipub!1 258/fouchsténelAssessmentQPHTMLMode1 /11258018428/125801 8428511D936/15446867491 253564/150... 4/24
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. ‘ _ Question ID : 1860452367
) Status : Not Answered
Chosen Optian : -

R —

Question ID ; 1860452365
Status : Not Answered
Chosen Option ; -

Question ID : 1860452364
Status : Not Answered
Chosen Option ; -

Ans X 1.0.09 and 0:1
¥ 20,08 and 0,09
b §: ! 0.1 and 0.11
X 0,07 arid 0,08

Question ID : 1860452358
Status : Not Answered
Chosen Option : -

Seuton - General Aptitude Raascning

wu mm rguﬁmg&sﬁ;i: ;'hm@ﬁmmmmm 12 0 e the s I sl e
Ans %4 301![ ‘

X224m

X3i7m

Vi dom

Question ID ; 1860452385 °
Status : Not Answered
Chosen Option ; -

92 Which of the Venn diagrams correcily represents the following classes:
SCIENCE, BIOLOGY, BOTANY |

Ans

s:/fcdn4.digialm.comf‘l/perlgo 1/pub/1 258ftouchstonelAssessmentQPHTMLMode1 /11258018428/125801 8428511 D936/1 §44686?491253564/ 180... 5/24
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Question ID : 1860452384
Status : Not Answered
Chosen Option ; -

depactment has planned-a split Luncly schediila for iy

R bas p s 15 émployees ! i
‘slots.1.00 PN 10.1.30'PAL 400 1.30'PM 1o 2.00°PM and With'the Tollowing Souditios:

IfVM.\_r\":mdnv'iu'g_Mntl.SUpmﬁw,_who nmpthe;peopie‘_ltﬂiediﬁnghﬂe?,
Ans 3¢ 1. Qanés '
X2 Rands

Vs Qand R

X4 Vandp

Question ID : 1860452382
Status : Not Answered
Chosen Option ; =

A4 How many days %l hese be o 24% Tamiary; 2016, 10,13 Sa, 2016 (b ays inchudedy?
Ans X 1. 109 A
V211

X3 110

X4 112

Question ID ; 1860452381
Status : Not Answered
Chosen Option : -

EDBF:OCEF::VY}.'W:“;‘

Ans -«1 XYZW

X2 xXyvz

X3 vxzv

X4 Vyxz .

;ps://cdn4.digialm.comlﬂperfgoT!pub!1 258!tOUChstone/AssessmentQPHTMLMode1 /11258018428/125801 8428511D936/15446867491 253564/150... 6/24
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Question ID ; 1860452371
Status : Not Answered
Chosen Option : -

“melmﬁm
mdmb;

Ans X 1. Nﬁlulﬂ}{“ e

Question ID : 1860452374
Status : Not Answered
Chosen Option : -

Q7 h\xmwmaam dswafften 324" qud m@m»wigemmiwwmmw

Ans XL‘"
K24
Kl
vis

Question ID : 1860452379
Status : Not Answered
Chosen Qption : =

Qs mhwnmmmmﬁﬁwww&r m,w&hmwarw
Ans X 1. Wkt

X 2 South
& 3 North,
v 4 East

Question ID : 1860452376
Status : Not Answered
Chosen Option : =

Q9 Whichone. st orkuwwhmmwuhuypbmn mggpsm thsgwmieuer wqes will complete ir?
b_de_efd 't be_ight

sl § B cdefg
V'2cdegt
X3 bedef
XK cedgf

Question ID : 1860452372
Status : Not Answered
Chosen Option : =

%1 Tn the given series, liov: many times dues the number 'S appear after '9* but is rof followed by 72

969,.,,.,9573759‘1763379163798378 !
Ans . X 1. Once

V' 2 Thrice
X 3. Four times
4. Twice

Question ID : 1860452373

Status : Not Answered

https:Hcdn4.digialm.conﬂllperlgo1Ipubl1258/touchstonelAssessmentQPHTMLMode1II1 258018428/125801 8428511D936/1 5446867491. ..
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J

Question ID : 1860452377
Status : Not Answered

Chosen Option : - 3
for‘wonld b the last letiees
Ans  5(C 1T 2
XL
v &7 U :
. 7 - : _ Question ID ; 1860452387

Status : Not Answered
Chosen Option ; -

Question ID : 1860452370
Status : Not Answered
Chosen Option : =

Q.1 X¥ZLid, isa swall organization with igh euplayees. Tn ovdes to lave oo nterrupiioas i servios o the clicats; e J1
4 Ridepartiment lias pianned o 3plitLunch scheduls for the emuployees --y,q;.n‘-,s::rvuwmw.m.mw o
$lots 100 PM (0:1:30 PM aud 1,30 PM 1o 2.00 PM with the foliowing conditions: ] . '

) :Due to limitation of diuing space, one slot ¢an accommodate pn‘immn.ﬁvqm-ﬁummm four emplovees:
b) ?md's‘wﬂien:'msmuc'whhntmﬂum:lw
€) Q' and ‘R <an't hiave the hineh af die e lime as 'S
d) 17 caunot have Biach along with v bt can bave ivwith 'P* and T,
AT Pand $ aveat inuich sogethier, who else vl be eating with thew?
A WU T ‘
X2Qv *
X3 RV
X4T,Vv

Question ID : 1860452383
Status : Not Answered
Chosen Option : =

05;1 Select the correct equation after interchanging operators and numbers as givén belaw,
Xaud=; 2and 5

Ane K 15+i=2x3

X23%5=1+2

Vi 3455 =2

X a IxE+=n

8/24
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Question ID : 1860452378 )
Status : Not Answaered *

Chosen Option : «

Question ID : 1860452380

Status : Not Answered

Chosen Option : -

a1 mm exualiois P Sigis neei o b3 fiiershang
NS F LB+ 3= 13

X ’@anda-

X 4 +and+

Ans

Question ID : 1860452386

Status : Not Answered

"Chosen Option ; -

%' Swati sanks § 5tk olass 0F 35 Sidenis. What i b raak G0 Last?
xz-;“éoﬁ‘
Va-ﬁii*f
X4 jggth

Qui

astion ID : 1860452375
Status : Not Answered

Chosen Option : -

Sastion : General Science

Q1 The process of cell divisioly by which niost ofﬂwbodypalisdmdqform,wulleﬂ
A X 1. mefosis ' ‘

X 2 fusion

”« 3 fission

v+ mitosis . . -

Chosen

fuestion ID : 1860452390

Status : Answered
Option : 1

92 Which Pproperty determines if'an object will float
Ans X 1. Surface area

' 2 Density relative o fluid -

X 3. Mass

X 4 Volume

or sink'in a fluid?

Ques

tion ID : 1860452393
Status : Answered

Chesen Option : 2

Js:/lcdn4.digialm.comlliperlgo1Ipubl1 258/touchstonelAsse5sr'nentQPHTMLque1H125801 8428/1258018428511D936/1 5446867491253564/150. ..
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Question ID : 1860452397
Status : Answered
Chosen Option ; 4

Question ID ; 1860452400
Status : Answered
Chosen Option : 3

Question ID : 1860452405
Status : Answered
" Chosen Option : 3

Q.6 ‘Which ot‘mefauow-qgmmadsmhem fuéeﬁnﬁl‘ng:nqu;m of two miseible fiquids?
* ¥ Distillation
X 2. Cennifugation.
X 3. Chromatography
< Sublimation

Question ID : 186_0452388
Status : Answered
Chosen Option : 1

7 Protiun, deuteritim anditri {tiovare. —__ofhydrogen.
Ans x §;7 isotypes

X 2. isobars

¥ 3. isotopes

X 4. idiotypes

Question ID : 1860452389
. Status : Answered
, Chosen Option : 2

Qs Geothexmai‘zienergy-isiNﬁTﬁsed_;‘m
Ane 3¢ 4, gencm_tingeléctﬂci;y-

V' 2. running vehicles

X 3. heat pumps

X 4 the. heatmg ‘system of buﬂdmgs

ttps:/icdn4. digialm. -com///per/g01/pub/1 258!touchstonea’AssessmentQPHTMLMode1 n 25801 8428/1258018428511 D936/15446867491253564/1 5... 10/24
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Question ID ; 1860452398
Status : Not Answered
Chosen Option : =

Question ID : 1860452395
Status : Answered
Chosen Option ; 1

' Quesﬁon ID : 1860452391
Status : Answered
Chosen Option : 2

&' What s the acceleration of s bus tha tacreases if speed from 60 s 1
M W g g2

X 2 5042

X 2 80 a2

X 432 s

Question ID : 1860452392
" - Status : Answered
Chasen Option : 1

Ans x1 Ccrpper
X2 'I\mgsten'
X3 Aluminium
V4 Silver

-l Whmh of the foﬂowmg metalahas :halowesb elecincal resmf

-. Question ID : 1860452404
Status : Answered

*Chosen Option : 4

Q' The 22 carat go{d used in making ormaments: actually i is:
‘“"‘ X 1. an amalgam

X 2 oxidised gold o '

v 3 an alloy |

X 4. pure gold

Question 1D : 1860452401
Stalus : Answered
Chosen Option : 3
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* Question ID ;: 1860452402
Status ; Answered
Chosen Option : 1

Question ID : 1860452399
Status : Answered
Chosen Option : 4

Question ID : 1860452394
. Status : Answered
Chosen Option : 3 '

oduction?
Ans 1. Multiple fission
X2 Budding .
xa Fragme'nt&ﬁ';?nf

Question ID : 1860452403
Status : Not Answered

Chosen Option : =
g Immuqisaﬁmjs-unavaﬂable_agaihst:-
il 1. smallpox
X2 polio
X 3. diphtheria
v 4 asthma
. ' Question ID : 1860452396
Status : Answered
Chosen Option : 4

Seaton Electronic Weasurements ang instrumentation

%1 The S-R latch is an example of:
Ane X 1. One-clock delay element
& 2 Combinatorial circuit

/15446867491253564/15. .,
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Question ID ; 1860452409
~ Status : Answered
Chosen Option ; 3

Question ID : 1860452406
Status : Answered
Chosen Option : 1

pecie ofthe st ot

Question ID : 1860452408
Status : Answered

- Chosen Option : 4

Question ID : 1860452415
Slatus : Answered
Chosen Option : 1

K4 3Vm1d.;_1,_-V

%% & logle family shows the following valies:

VQH?=SVVQL=1VVH-I ?sVandVlI.—-EV
menomema%m&MandNM’L respecttvely,wﬂl be:
Ans X1 svandw

Question ID : 1860452412
Status : Answered
Chasen Option ; 2

o 1. Germanium
& 2 Boron

X 3 Alumingm
v 4. Phosphiorus:

98 N-type silicon | is obtamed by doping silicon with:

Question 1D : 1860452414
Status : Answered

13/24
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L Chosen Option ; 4 ‘ ]

Question ID ; 1860452413
Slatus : Answered.
Chosen Option : 3

dolay s 10D e

Question ID : 1860452407
Status : Marked For Réview
Chosen Option : 3

09 Thase i flops s Sonmected o formtcounor Tho i g posible foethe coniaten willbei
Ans x 1, 7 ; .

X225 | _ ‘
Vg

Xa3

Question ID : 1860452410
Status : Answered
f Chesen Option : 3

S The Gray code égi;i\falep.t91’-_:1!&;1156;‘14:&@]_1&& .
Ans X 11110

¥ 2 100}

3. 1000

X4 111

Question ID : 1860452411
Status : Answered
Chosen Option ; 4

Secton Analog and Digitai Circuits

Q-1 In a positive feedback control systom, the feedback signal is ——withTespect to the ingut 5{gaal
A X 1. leading by 90°

¥ 2. in phase

X 5 out of phase | :

X 4. lagging by 9.0"

Question ID : 1860452420
Stalus : Answered
Chosen Option ; 2

92 RISC stands for:

Ans

tps:Ilcdn4.digialm.com!/!perlgo 1/pub/1 258/touchstonelAssesshentQPHTM LMode1//1258018428/ 1258018428511D936/1 5446867491253564/15...  14/24
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Question ID : 1860452422
Status : Answered
Chosen Option : 1

Question ID : 1860452424
Status : Answered
Chosen Qption ; 1

Question ID ; 1860452416
Status : Answered
Chesen Option : 3

Ans X1 oim nca 1061

2. 1001 1001 BASTE
X 20011 (001 1010
v 3. 0011 oma olo1

Question ID : 1860452423
Slatus ; Answered
Chosen Option : 4

% What does if Point A in the below cirouit represent?

Ans % 1. Voltage source '
X2 Ammeter

X 3. Delay element ‘

v’ Junction and a node.

Question ID : 1860452425
Status : Answered
Chosen Option : 4

&7 The Ebers moll model is applicable to:

ps:l/cdn4.d|gja!m.corn!/fper!gmlpubﬂ258ltouchst§nelAssessmentQPHTMLMode1ll1 258018428/125801842851 1D936/15446867491253564/15... 15/24
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Question ID : 1860452417
Status : Answered
Chosen Option ; 4

Question ID ; 1860452421
Status : Answered
Chosen Option : 2

Question ID : 1860452419 .

Status : Answered
Choaen Option : 3

Q.1 Mampllﬁulusvol&q;
0 decibels, respectively, vl

s X 1, 12 léand,zo"dB
V220,40 and 30 dp
X2 4o, 60 nd 50 4B
X+ 10, 100and 1000

mw wmaﬂﬁm 160 (eapectmly Thwuluge, cmmdmmm

Question ID : 186045241

Status : Answered
Chosen Option : 4

Seclion . Anzlog ang Digitat Communication Systems

Ane o175 m
X270m _
Xas50m
Kaes5m

Q.1 Jfthe ﬁnqnﬁacy.oﬂihe:;igiml is 1 MHz. the minimum hisight of ﬁ'le-_tk'a_;lsgnju'ingailge!ma should be;

Question ID : 1860452430 .

Status : Answerad
Chosen Option : 1 '

Ans 3¢ 1. Nl
V2. Higher
X s Equal
& 4. Lower

Q.2 The frequency of the carrier wave is

s compared {0 the frequency of the modulating signa;

16/24
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f Question ID ; 1860452431
Status : Answered
Chosen Option ; 2

Question ID : 1860452435
Status : Answered
Chosen Option : 2

Question ID : 1860452432
Status : Answered
-Chosen Option : 3

X2 Distributed modulatian:
xa. Diﬂ‘eremMmodmmou
V' Delta modulation

Question ID : 1860452434
Status ;: Answered
Chosen Option : 4

o A-ds‘?".icef-ﬂiéﬁftrmzsfofriésxﬂﬁé?ifénﬁbf?%ﬁefssftﬁﬁ'-?ntzﬁiiehiéiaéﬁéﬂi
Ans X Ttansistor .

X 2 Transmitter

X 3 Transformer '

v . Transducer

Question ID ; 1860452429

J Status : Answerad
, Chosen Option : 4 -

%7 If a signal can take values of only 0 and 1, ifis /an:
A X 1. Periodic Signal '

¥’ 2. Digital Signal

3. Analog Signal

X 4. Mixed Signa)

Question ID : 1860452427
Status : Answered
Chosen Option : 2

as The Wi-Fi operates onthe frequency.
Ans o 1. radio '

;:/chn4.digiaim.comf/lperlgo1Ipub/1 258!touchstone/AssessmentQPHTMLMode1/I1 25801 8428/125801842851 1D936/1 5446867491253564/1 5.
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Status : Answered
Chosen Option : 1

Question ID : 1860452433 °

Question ID ; 1860452428
Status : Answered
Chosen Option ; 2

X 3. 3‘0;‘
vigo

Question ID : 1860452426
Status : Answered
Chosen Option : 4

Sastion Computgr Organization and Architecture

%' Hartley Oscilia torisa:
k3 Relaxatx, ﬁeguency oscxﬂator

X Sxﬂblﬁf,&!;gumy oscﬂiaxor
v/« High frequency oscillator

Question ID : 1860452442
Status : Answered
Chosen Option : 4

% The process of superimposing a signal on the carrier wave is called:
Ans X 1. Demodulation

X 2. Quantization

V'3 Modulation

X 4 Transmission

Question ID : 1860452437
Status : Answered

Chosen Option : 3
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Question ID : 1860452436
Status : Answered
Chosen Option : 2

Question ID : 1860452444
Status : Answered
Chosen Option : 4

Question ID : 1860452441
Status : Answered
Chosen Option : 4

Q6 Fora zero‘menn sine wive, if the RATS valuaiis: 100V, what (s the peak-to-peak amplitiider
Ans x ‘70V : ;

X2 140y

v 280V

X4 200V

Question ID ; 1860452445
Status : Answered
Chosen Option : 3

@7 The $55 timer IC cag have operating modes as;
Ans X 1. Bistable and monostable

X 2. Astable and monostable

U &) Astable, monostable and bistable

X 4. Monostable and astable

Question ID ; 1860452439
Status : Answered
Chosen Option : 4
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Question ID : 1860452438
Status : Answered
phusenOpﬂon 3

Question ID ; 1860452443
Status : Answered
Chosen Option : 4

. Question ID ; 1860452440
Status : Answered
y Chosen Option : 1

Section : Electre Magnetics

@1 The battery- wnh;n 1409 mAhm su,pplyz
Ane. W 1. 8 ‘minufes

X 2. 100 minutes

X 60 minutes

¥4 30 mmutes '

Question ID ; 1860452448
Status : Answered .
Chosen Option : 4

42 Android is a/an:

Ans X 1. Data transfer protncol
X 2 Database

& 3. Programming language.
¥4 Operating system

Question ID : 1860452446
Status : Answered
Chesen Option : 4

) thch of the foilowmg isa ﬁon~vg!aﬁ1q-.-merpogy?',
Ars X1 DRAM

X 2 RaM

V'3 EEPROM
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Question ID : 1860452449
Status : Answered
Chosen Option : 3

W

Question ID : 1860452452
Status : Answered
Chosen Option : 2

Vo slecld ittt uaset, il chigiag:

Question ID : 1860452454
Stalus : Answered
Chosen Option : 4 o

Question ID ; 1860452447
Status : Answered
Chosen Option : 2

> freq len 'l,_rangeof.éMmdloiS,
Ans 4’1 ssskHz to 1605 kHz
Xz 32-GHztaSlGHz
X 488 Mtz 0 108 Myt N

Question ID ; 1860452451
Status : Answered
Chosen Option : 1

At W a00isy '
K244k 59

X3 44kohm:i:10%

X4 44052&10%

Question ID : 1860452450
Status : Answered
Chosen Option : 1

99 Which of thafollowmg type of memory is the: fastest to access?
Ans o 1. Cache ‘ : 7
s:flcdnd.digialm, com/liper/g01/pub/ 125SltouchstoneIAssessmentQPHTMLMode1// 1258018428/ 1258018428511D936/1 5446867491253564/15... 21/24
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. Question ID : 1860452455
Status : Answered
Chosen Option : {

Question ID ; 1860452453
Status : Answered
Chosen Optian : 2

Section ; Advanced Communication Top'ics

Question ID : 1860452457
i Status : Answond
Chosen Option : 4

PLis:

ng  instructions executed n 7 clockigycles, fio'

Question ID ; 1860452461
Status : Answered
Chosen Option : 4

O3 'Which one of the following, is’ the mosz widely. “used-logic: family?
A X 1 PMOS logic '

X2 Enuttercouple Iogzc

" Question ID : 1860452459
) Status : Answered
Chosen Option ; 3

Q4 Ifasystem. gives unbounded outputwfor_a'qumd'ed‘jqput;ﬁinan the system is:
W Unstable

X 2 Oscillatory

X 4 Stable

) [ Question ID : 1860452456 j
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. i ‘ ) Status : Answered
* ) Chosen Option : 1

Question ID : 1860452460
Status : Answered
Chosen Option : 2

Question ID : 1860452458
Status : Answered
Chosen Option : 4

Question ID ; 1860452464
Status ; Answered
Chosen Option : 1

@8 Which lowgamlsmmmted&ythafﬁﬂowmgmm 7

Ans «10R
X 3 NOR .
b4 4.  AND

Question ID : 1860452462
Status : Answered
% Chosen Option : 1

™ taet’ije‘seq.éor_is;
Ans X 1. Pressure-sensitive
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Question ID : 1860452465
Status : Answered
Chosen Option : 4

Question ID : 1860452463
Status : Answered
Chosen Option : 4
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